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1. If xis the brother of the S0n of v's sofl
how is x related to y?

(A) son

(B) Brother

(C) cousin

+D7 Grandson

Pointing to kapil, shilpa sajq "His
mother's brother is the father of my
son Ashish." How is kapil relateq to
shilpa?
\@/Sister-in-law

(B) Nephew

(C) Niece

(D) Aunt

In a class, 3/5 of the students are girls
and rest are boys. If 2/9 of the girls
and 1/4 of the boys are absent, what
part of the total number of students is

present?

(A)

(D) None of these
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atio

Read the following info

answer the questions-

Alka is older than Mala,
than Mala but younger th
is younger than pam an
older than Ram
Who is eldest?
LAf)/Alka

(C) Kapil

Read the followind in

(B) Mala

(D) Gopal
ation and

answer the question:

Alka is older than Mala. GO

than Mala but younger tha

is younger than Ram and Mala. Mala Is

older than Ram. Who is the
(B) Ram

@ Kapl

m which best

(A) Mala
(C) Alka
Choose the venu-diagra

illustrates the three given classes in

the question
O .
0@ %
o 09
(1) (2) ® W

Citizen, Educated, Men
(A) 1 b

(B) 2

(C) -3

5 4
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(1) (2) (3) (4)

Citizen, Educated, Men
(A) 1
(B) 2
(C) 3
(D) 4



7. In the following diagram' triangle
represents  doctors, the circle
represents players and the rectangle
represents artists
Which number represents players who
are neither artists nor doctor>

M 1,2 (B) 3,4
(C) 6,7 (D) 7,8

8. In the following diagram, triangle
represents doctors, the circle represent
players and the rectangle represents
artists

8
7 . 3
6 S5 2

1
Which number represents doctors who
are neither players nor artists?
(A) 2 (B) 3
Nt (D) 5

9. What will be the angle between the
hands of a clock when the time is at
9:15 am.?

(A) 172.5° (B) 1150
(C) 360° (D)"180°
10. If 12th January of 2024 was friday,
then what will be the 7t" June of 2025?
Monday '
(B) Thursday
(C) Saturday
(D) None of these
18099\S\2024
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(A) 1,2 b

& e (D) 7,8

P e Prr st @, 3 Reerech
T 3T PATBR] B Fefefd Bl &

mﬁﬂqﬁﬁwgmﬁaﬁasﬁf%sﬁ
T a1 Raemst 2 71 & seeR &)

(A) 2 (B) 3
€ 4 (D) 5

IE 9:15qw§ra%§3u‘i$é’laﬁmfr%ﬁ’r
P DIUT FAIT?

(A) 172.50 (B) 1150

(C) 360° (D) 180°
uﬁmmﬁzo&zaﬁwm,?ﬁ?m
June 2025 & Fa1 & 2.

(A) HHaR

(B) Twar

(C) wfEr

(D) 59 & B¢ 7
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12.

3

14.

15,

Which of the following is a leap years?

(A) 1600

(B) 2000

(C) 2400

(D) All options are correct

If the seventh day of a month is three
~ days earlier than friday, what day will

be on the nineteenth day of thé month?

(A) Sunday (B) Manday
GQ/Saturday (D)  Thursday

At 3:30PM, the minute hand of a clock
points towards East Towards which

direction the hour hand will point at
9:00 P.M.?

(A) South

(B) East

J@)/éouth-west

(D) None of these

Select the pair that has the same
relationship as the original pair of
words:

Darkness: Lamp
\(A»)étigue : Exercise

(B) Thirst : water

(C) Medicin : Iliness

(D) Study : Classroom

Select the pair that has the same
relationship as the original pair of
words '
Hospital : Doctor

(A) Army : Soldier

\(Bf)/School : Teacher

(C) Lawyer : Court

(D) College : Student

18099\8\2024
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(A) 1600

(B) 2000

(C) 2400

(D) gt fae wEt €1
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(A) IRER (B) WHAR
(C) wffEr (D) THAR
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16. Find the missing term.

72

16, @ T &1 Tl T

1) 255

(D) Noneé of these

17. Find the missing term

84

81

(A) 190
(B) 236
{€) 259
D) & ¥ B el

17, SATqaT @ @1 uaT e |

88 ' 84 81

i
) 15
127 a1
e/

88

14| 12

18

P,
fl1 14| 12 18] 9

11

AT 16
(B) 21
(C) 61
(D) 81

18. Find the missing term

(A) 16
(B) 21
(C) 61
(D) 81

18. mmﬂwml

102020X 020X

N

(B) 8
(€) 2

(D) None of these
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20.

21

oz

23

be
as FRYHW, then which word would

written as SHDUO?

(A) QUAKE

(B) REPAY

(C) PEARL
TIEVP

- Cia o
In a certain language BAN is written

DCP, then SDM would be written as?
(A) EPH
(8 UFO
(C) BGC
(D) DEF
In a certain code MANIA is written as
NZOHZ and PROUD as QSNTE. How
will word 'DONKEY' be written in that
code language?
(A) ENOLDZ
(BEPOLFZ
(C) CNONDZz
(D) None of these
If DOG=67, then FOX=?
(A) 114
(B) 59
(Y53
(D) 55
Find next term
Z,L,X,J,V,H,TF??
(A) R,D
(BY'R, E
(C) S, E
(D) Q, D

18099\8\2024
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: 19. U® ﬁfi‘ﬁ : :
In a certain language COVET is written T Be yar Cov

20.

wl

22,

23,

Wg‘
|

ET 1 g,

méﬁ“@wmﬁ%ﬁ

H\‘\ "
e ¥

(D) TIEVpP

qﬁ%‘“ﬁﬁwr’i BAN &' DCP

%. #I' SDM aﬁw%@mp
(A). EPH

(B) uFo
(C) BGC
(D) DEF

® Ffead g wm # MANTA NZOH;
3R PROUD @' QSNTE forar ey i
R W # 'DONKEY' & 58 Yo firg
SIe| :

(A) ENOLDZ

(B) EPOLFZ

(C) CNONDZ

(D) 3% ¥ B &

4l DOG=67, a FOX=?

(A) 114

(B) 59

(C) 53

(D) 55

3TET U< 51T Difsre|

Z,L, X3, V,H,T,F 2,2

(A) R,D

(B) R, E

(C) 'S, E

(D) Q,D



24.

25.

26.

27.

" 28.

selec.t th<-e pair that h.as the same

relationship an the origing nair o

words:

gignal : Traffic

(A) pam : River

(B) Lens : Light

(c) Door: House

(D) Operation . Doctor

select the pair that has th

relationship as the original epas.ame
Ir of

words:

plants : Coal

(A) Crops : Manure

(B) Animals : Oil

(C) Cow : Milk

(D) Fire : Smoke

Select the pair that has the same

relationship as the original pair of

words:

Coal : Thermal

(A) Power : Energy

(B) Bulb : Light

(C) Air : Atmospher

(D) Water : Hydel

Immigration is related to Arrival in the

same way as Emigration is related to--

(A) Emigrant (B) Native

(C) Leaving (D) Alien

Tungstan is relatd to Filament in the

same way as Bronze is related to -

(A) Copper (B) Ships

(C) Tin (D) Ornaments

29. Heart is related to Blood in the same

way as lung is related to -----

(A) air (B) oxygen
(C) chest (D) Respiration
18099\8\2024
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30. Bouguet is relate

31. Read the followin

32.

33,

d to Flowers in the

. to -
same way as sentence 15 re!ated

(A) construction  (B) Words

(DY Paragraph

(C) Letters

answer the questions: A
(Ika\s older than Mala. Gopal
than Mala but youngér th
is younger than R

older than Ram
Whose age is between Gopal an

_(pY Mala (B) Kapil

(C) Alka (D) Noneof these

Read the foll
answer the question.
Alka is older than mala. Gopal is

than mala but younger than Alka. Kapil
nd Mala. Mala is

d Ram?

owing information and

older

is younger than Ram a

older than Ram.
Whose age is between Mala and Kapil?

(A) Gopal &y Fam

(C) Alka (D) None of these

Read the following information and

answer the questions.

Alka is older than Mala. Gopal is older

than Mala but younger than Alka. Kapil

is younger than Ram and Mala. Mala is

older than Ram.

Whose age is exactly in the middle of

the five?
Mala

(C) Ram

(B) Gopal
(D) Aka

180991512024
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34, In the given figure whicy region
represents leaders Who are aither
singer not Indian?

o e e
(Y

Singers
(A) 2 (B) 3
6 (D) 7

35. In the given figure which region
represents singers Who are nejther
Indian nor leaders?

Indian 5 Leaders
LY

Singers
(A) 1 (B)
(€) 3 w7

36. In the given figure, which region
represents Indian singers who are not

leaders?
Indan'u:aders
(2
AVA
Singers
\W/l (B) 2
(© 3 D). ‘4
18099\S\2024
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(A) 2 (B) 3

(C) 6 (B2
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hich best

nu-diagram W
37. Choose the ve . ¢ in

illustrates, the three given €
the question.

OIOAC
(1) (2) (3) 5.
Doctor, Lawyers, professionals
(A) 1 9 2
(C) 3 (D) 4
m which best

38. Choose the venu-diagra
i in
illustrates the three given classes

the question.

O Ao %
@@ %
(1) (2) (3 59
Honesty, Intelligence, Aptitude
Wi 1 (B) 2
(€) 3 (D) 4

39. Choose the venn-diagram which best
illustrates the three given classes in

the questions.

O@%
O
(1) (2) (3) (4)

Mercury, Mars, Planets

(A) 1 LB)/Z

(©) 3 (D) 4

18099\8\2024
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v
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'li

39,

T 8 3o % 3 et
B 3 ey

O
)@ %
O
O @ e @

Doctor, Lawyers, Professionals

(A) 1

(€) 3

(B) 2

(D) 4

W) & 3 ¥ i weer o o Y A

! ) 3y avfian )

0@ °° 63
O

() T2t @)Y (@)

Honesty, Intelligence, Aptitude

(A) 1 (B) 2
(C) 3 (D) 4
wel &1 3w T S R ) i i oy ey
3 gyt &1 '

O
@@ %
o ©9
(1) (2) (3) (4)
Mercury, Mars, Planets
(A) 1

(B) 2

(€) 3 (D) 4



40. Find the missing term, 40, ET W1 &1 At e

2
7, 8, 18, 66,7, 1938 7, 8, 18, 66,7, 1938

(A) 928 (A) 928
(B) 686 (B) 686
(C) 430 (C) 430
(D) 324 (D) 324

41. Find the wrong number 824, 408, l0e PP -

.96, 44,18, 5 804, 408, 396, 96, 44, 18, 5
(A) 408 (A) 408
(B) 396 \\ (B) 396
(C) 96 (C) 96
o7 44 (D) 44
42, Find the missina term. 42. 9T I &1 94T AMe|
?2 | 4 e 1
25| 13 261 13
4‘)/74 (A) 74
(C) 91 (©) 91
18099\S\2024 [13]
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43. Find the missing term
578, 577, 568, 5437
MSZé
(B) 518
(C) 532
(D) 494

GRASP is coded

44. In a certain language,
uld be coded

as BMVNK, which word WO

as CRANE?
(A) FUDQH
(B) HWFSJ]
(C)~GVERI
(D) XMVIZ

45. How many triangles aré there in the

following figure?

\V

(A) 15
(B) 13
ey 19
(D) None of these

18099\S\2024

3
T

-3

578,577, 568, 543?
(A) 528
(B) 518
(C) 532
(D) 494

. & g wmer § GRASP @ BMVNK fimg

e &) o s 3w T B CRawg
fera s

(A) FUDQH

(B) HWFS]J

(C) GVERI

(D) XMVIZ

45. ot gl & Brageit ot i st Bifswe
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(A) 15
(B) 13
(C) 19

(D) & A B T



46. How many triangles are there in tlik

following figure?

Nz

(A) 13 (B} %32
(€ 21 (D) 24
47. In the given figure, which regign
4 denotes Indian leaders who are nd
singers?
Indian Leaders
Singers
(A) 2 (B) :+3
(C) 4 (D) 5
48. Inthegiven figurewhich region denotes
Indian leaders who are singers?
Indian Leaders
Singers
(A) 2 (B). -3
() 4 (D) 5
18099\S\2024

46.

47.

48.

(15]

A

forer smpfer 3 Pt o < st i

&

—r

(A) 13 (B).: 32
(€) 21 (D) 24

forer ampfer # @A W fee e el A
RiTR el & Y weffa & &l
HERE) =R

/2

ﬁiﬂ

(A) 2 (B) 3
(C)- 4. (D) 5

for sl & @t e e AR A
R & @ yefdfd oxar 2l
i

&

AR

.

faR
(B) 3
(R):,S

<P

(A) 2
(C) 4

P.T.O.




49. A js 3 times as olds

50.

-} 2

<7

as B. C was twice
as old as A four years ago-. In four
years time A will be 31. What are the
present age of B and C?

(A) 9, 46

(B) 9,50

(C) 10, 46

(D) 10, 50

Select the word which is different from
others

(A) Pathology

(B) Histology

(C) Haemotology

(D) Archaelogy

Select the word which is different from
others

(A) Investigation

(B) Analysis

(C) Search

(D) Conclusion

Select the word, which js different
from others,

(A) Infrared Rays

(B) Radiowaves

(C) X-Rays

(D) Ultraviolet Rays

180991812024
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LT
(A) 9, 46

(B) 9, 50

(C) 10, 46

(D) 10, 50

N V= B T BT 3 3= R A
(A) Pathology

(B) Histology

(©) Haemotology

(D) Archaelogy

3 I 1 T BT 5 3= N R
(A) Investigation

(B) Analysis

(C) Search

(D) Conclusion

3 U BT T BT 3 37 A A A
(A) Infrared Rays

(B) Radiowaves

(C) X-Rays

(D) Ultraviolet Rays



g

53.

54.

55.

56.

57,

gelect the word, which jg different

from others

(A) IMF

(B) SAARC

(C) UNICEF

(D) WHO
IVORY:ZWSPJ::CREAM:?
(A) NFDQB

(B) SNFDB
(QL-DSFCN

(D) BQDZL
31:90::43:7

(A) 130

(B) 125

(C) 102

(D) 75

'Physioiogy: Biology:: Metaphysics:?
(A) Physics

(B) Statistics

(C) Mathematics

(D) Philosophy

Water : Oxygen :: Salt:?
(A) Iroﬁ

(B) Sodium

(C) Calcium

(D) Protien

18099\8\2024
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54.

50,
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34 9 & Tg s 3 3 A e A
(A) IMF

(B) SAARC

(C) UNICEF

(D) WHO
IVORY:ZWSPJ: :CREAM 34
(A) NFDQB

(B) SNFDB

(C) DSFCN

(D) BQDZL
31:90::43:7

(A) 130

 (B) 125

(C) 102
(D) 75

Physiology:Biology:: Metaphysics:?

~(A) Physics

(B) Statistics

(C) Mathematics

(D) Philosophy

Water : Oxygen :: Salt:?
(A) Iron

(B) Sodium

(C) Calcium

(D) Protien

P.T.O.
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in 58 3 3Ry . _
58. Select the figure that will come next i B T B 3 Fraferfae e

the following series.  3m) s
A b
‘ O] 2 L]
O A ) O ﬁ kil ?
=
Q v
(A) 8 : (A) 8
Q9 ¢ 9
®) |07 g B & e
© | 8 §f ©Of Q
00 : 00
D) |0 0 | % (D) 00
59. Select the figure that will came next in ¥ 59, 39 P BT 9T B 3 Fr=feiRad G
;I the following series. q 3
|

il A =2 E- S (R R S 2 R

(A) (A)

) ©

iiia

o & i ®)
177 |
=

iSRSNGS

(D)

18099\8\2024
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f Se|ect the figure that Wil

* following series, Me next in

.. 60. manqs%ﬁamasishﬁw%ﬁaﬁﬂj@m
ot

& 3 3 3
I\ @ 2o |
% o &
(B)@ (8) [A
0 © 0 &
o & o [<

5 Seled the figure that will COme next in 61. 39 3“@5% HT Tgdq R il ﬁ'ﬂ%ﬁgﬁ ’ﬂ@f‘ﬂ

ﬁ-,gfollowing services. 7 3 3

\/\/\//\?\\ v (WA

/N
(A)
(A) N\
@) |VV
e |V
© | /V
© |/V
0 | VN o) | W
(19] P.T.O.




62. Arrange the following in logical other

1. Book. 1. Book
2. Table 2. Table
3. Student - 3. Student
4. Chair . 4. Chair
5. Room:; 5. Room
(#).5:1,3,2,4 - . (A) 51,324
B) 2,3,5.1.4 (B) 2,3,5,1,4
(C) 2,354 1 B (©) 2,3,5.4,1
D) 54,332,141 ' g (D) 54,321
63. Water : Dam :: Trade:? 5? STCT : §TeT :: MR ?
(A) Commerce - (A) aforsg
(B) Economy w (B) 3rfeggwen
(C) Goods & (C) umH
(D) Trade Policy x (D) MR e
64. 384 :7::216: 63 64. 384 :7::216:::63
(A) 128 (A) 128
(B) 124 (B) 124
(C) 1312 (C) 112
(D) 192 (D) 192
65. ADE : FGT :: KNO:? 65. ADE : FGT :: KNO:?
(A) PQR (A) PQR
(B) TPR (B) TPR
(C) PQT (C)..PQT
(D) RQP (D) RQP
66. ABC : ZYX : CBA:? 66. ABC : ZYX : CBA:?
(A) xyz (A) xyz
(B) BCA (B) BCA
(C) YZX (C) YZX
(D) ZXY (D) ZXY
18099\5\2024
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study the following ing

95 answer  Distribytic. O Mati Fr=feRaa e & amer @ 3w &fse
o 2 trlbutlon of Ation and 67. & I

. acres) under Varioyg ar :
f ea " )
o0d gy o> (10 fafim et & fore &t &1 forgeor (s )

Which combination of thre
e

contribute to 50% of the opE ot it el bt Sdilo Wel Bell & dgd
under the food crops? ? area Pe1 & &1 50% e &l 2
(A) Wheat Barley ang Jowar (A) ﬂﬁ Fit 3k TR

(B) Rice, wheat and Jowar

| . (B) draer, 1 3R =R
(C) Rice, wheat and Barley s

(D) Baira, Maize and Rice (€ MREL R SN
8. Study the following information gng (D) aTaRT, Haw! 3R ATEe
‘ answer Distribution of areas (in acress) SR e m % TR R IR Qe
under various food crops. fafter wwett & fore et @1 faazor (eas )

| If the total areas under the jowar was

. 1.5 million acres, then what was the afe SR & =i et &t 1.5 Rifereret wbs
areas (in million acres) under Rice? %?ﬁ Tae & JFiiel fobern & &
(A) 6 (A) 6
(B) 7.5 (B) 7.5
(C) 9 () 9
(D) 4.5 (D) 4.5
- 18099\5\2024 (2] P.T.0.
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69. ﬁ":fraﬁga
69. Study the following informat.lon raef:; STHEBRY & 31MemR W Fa A3
answer: Distribution of areas (in ac

under various food crops. & fore &t 1 freazor (vps #)

If the production of wheat is © t'm§§ e N 1 3T AR  IearE B 6 T &
that of barley, then what IS the ra t ﬂ’fﬁésﬂ?sawasqﬁrmmmﬁrm
between the yield per acré of whea e
?;')d g ' (A) 3:2
(B) 3 1 (B).3%1
(€) 12 :4 () 1259
(D) 2:3 | (D) 2:3

70. Study the following information and  70. F=fofes e & 3MUR W) R e
answer: Distribution of areas (in acres) fafir waet & fore &=t @ faavor (vHs )

under various food crops.

afe aract &1 Ui e 31eT SUR & IAED

If the yield per acre of rice was 50%
e ' : I 50% 3 &, A AR BT I TG B

more than that of barley, then what

production of barley is what percentage Fearest @l fee sferera &2
of that of Rice? (A) 30%
(A) 30% ;
_.0/
(B) 335% (B) 333%
(C). 35% (C) 35%
() 26% ‘ (D) 36%
180991512024
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up by 12%, then what will be the 5

for wheat in the new pie-chart? e
(A) 62.4°

(B) 76.8°

(C) 80.6°

(D) 84.2°

(ii) (iii)
(A) 1 i
(©) 5 D) 3

_ What should be the num

7‘2: What should be the number opposite 92,

ber opposite  73:

. Fefeiam T & g R I A

%ﬁﬁma;fmaa‘rarﬁﬁm(mm

qﬁ@ﬁ&}'ﬂS% Wmmaﬁiﬂé*

et 7 31 120 1 o A A T T
aréﬁﬂaasfﬁuaﬂwmiﬂ’ﬂ?
(A) 62.4°
(B) 76.8°
(C) 80.6°
(D) 84.2°
sﬁﬁqﬂﬁﬁqﬁmﬁ’ﬂ"
(ii) (l")
(A) 1 (B)
(9 s (B1 8
easﬁqaaae\wmaﬁ?_
(i) (i) (ii) (iv)
(A) 1 (B) 2
(© 3 (e
P.T.0.
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74. How many rectangle

following figure?

3 |

(B)
(D)

(A) 6
© 8

75. Arrange the following in a 109

1. Doctor

2. Fever

3. Prescribe
4. Diagnose
5. Medicine

(8).1,43,2,5
(B) 2,1,3,4,5
1Cy2, 1,835
(D) .2, 43, 5; 1

7
9

ical order.

76. Arrange the following in a logical order.

1. Gold

2. % Iron

3. Silver

4. Platinum

5. Diamond
(A):3,4,2,51
{B)::2.3.:0,:5,4

(C) 4:5;1,2,3
Py 54231

77. Arrange the following in a logical order

1. Never

2. Sometimes.
3. Generally
4. Seldom -

5. Always

(A)-5,2,1:3.4
(B) 5,2,4,3,1
(C) 5:3,1.2. 4
(D) 5,324, %

18099512024
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(A) 6 (B) 7
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Sometimes
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gonal's Position in 3 row |
& ‘the front side and S S 12th from

.‘ o . 0
. side. HOW many pergopg am the back
~ jnthat row? '® standing

(A 17 (B) 18
(€ 19 (D) 20
g, Arun moved a distance of 75 meters
towards north. He then tumned to g1
left and walked for aboyt 75 ITl0 the
: " eters,
I tumed left again and walyeq 80
:7", meters. Finally he turned to the right
- atan angle of 45°. In which direction
. was he moving finally?
. (A) North-east
- (B) North-west
.. (C) South west
- (D) South-east
A man walked 30 meters to wards
south. Then he turned to his right and
walked 30 meters. Then turned to
" his left, he walked 20 meters. Again,
" he turned to his left and walked 30
meters. How for is he from his initial
-~ position? |
(A) 30 m
- (C) 80m
81, Read the following information and
answer the question
Six friends A, B, C, D, E and F are
sitting in a closed circle facing the
centre
“E is to the left of D.
C is between A and B
‘4, Fis between E and A
Who is to the left of B?
; (B) C
(D) E

(B) 20m
(D) None of these

78.

79.

80.

81.

(28]

B b e

ow e F wer B Rerfer o d 12dF il
Ao 7 21 3% dfep # foperr afeh &7

(A) 17 (B) 18

(C) 19 (D) 20 |
30T FER Y 3R 75 . g8 i e &, i
g a3 71 31k 25 7. T 1 7 e
arfi 3% g & 3K 8om Ferr &1 31 A
a8 2 3R 45° % Do W g &1 3 A
gz foow e # e @1 27

(A) FR-0d

(B) FeR-uRaH

(C) eftor-ufaH

(D) aftor-gd

% wfts 2o @ 3R 30 #. Terar 2 )
8 I T ggan & 3k 30 . Fen €1 9§
Rs aid) Tgar & 31k 20 #. Ton &1 R A
7 Tt e & 5l G0, o 1 T
yRfs® wF ¥ faT ¥ 8?

(A) 30m (B) 20 m _

(C) 80m (D) T A DI Tl
fort SR & SR R Frafoad s @

FR Al

1. 6fmA, B, C D, E3RFIS RN
¥ ¥ B 3R @ IR 30 ¢

2. E D®adsiR2

3. C,A3RBHITHR

4, FEIRA® daddlsd el sk
P &2

B & §idl 3R B &7
(A) A (B) C
(C) D (D) E

P.T.O.




82. Read the following and answer the

question.

1. Six friendsA,B,C, D, E and F
sitting in a closed circle fucting
the centre.

2. E s to the left of D.

3. Cis between Aand B

4. Fis between E and A

Who is to the right of C?

(A) A (B) B

@y D () E

83. Read the following information and
answer the question:

1. Sixfriends A, B,C, D, E and F are
sitting in a closed circle facing the
centre.

2. EistotheleftofD

3. Cis between A and B v

4, F is between Eand A §

Which of the above statement is |

superfluous? '

(A) 1 (B)i2

{C) 3 (D) None of these

84. In the following question two statements
P and Q are given. You may look into
their logical acceptibility and mark your
answer as:

If both P and Q are true

If P is correct and A is wrong

If P is wrong and Q is correct

If both P and Q are wrong
: some mangoses are apples. All
~ grapes are mangoes. Therefore

all apples are grapes,
Q: Some mangoes are apples, All

apples are grapes. Therefore
some mangoes are grapes

are

TAWN e

A4) (B) 2
(C) 3 (D) 4
18099\5\2024

[26]

82. ﬁwa%ﬁ%mwﬁm%%amm

83.

84.

ﬁﬂﬁﬁl
6/, A, B, C, D, E 3R F v da W
5% ) ol s 88

2, ED$§ﬁ3ﬁq§|

3. cAsRBF A

4 FREIRAF ST

C & 2 3R P 22

(A) A (B) B

©) b (D) E

1 @R & smeR w Rt goa @

TR @

1. 6fim A, B,C, D, E3RFUS TR
¥ &% ol 3R J9 3% 86 &

2. ED®SN3RE

3. cCARBHFITHE

4. FERATITHR

IR § B T A Al &2

(A) 1 (B) 2

(C) 3 (D) & I IS &I

fort e # @ 9 P 3R Q ey 1 €1 s

A Woddl & IR W 30 W DI

foreT R ¥ fore:

1. @M ®2F P 3R Q ¥ &

2. Pu &3k Q3R gl

3. P3N g 3R QW Bl

4. 2FP 3R Q 3w B

p: PO M I9 & W R I &l 31
el ¥9 R &

Q: 36 3 Ja &l AW F9 IR & I

$B 3 3R 8
(A) 1 (B) 2
(€ 3 (D) 4




85.

86.

87.

Inthefollowing uesti
P and Q are gi\?en. 333 tnv:o
their logical acceptbility anzy ook 18
answer as: Tark ye
1. If both P and Q are try
If P is correct and ,
If P is wrong an i
If both P an% Q (:lrcé :zrmea
Some musians are nct rig, i
musians are polite. Therefqr ' t
all polite Persons are rich =3
Q: Al musians are rich, No ich
Person is polite therefore mugigf,s
are not polite
(A) 1 (B) 2
(C)- 3 (D) 4
In the following question two statement
P and Q are given. You may look into
their logical acceptability and mark are
answer as:
1. If both P and Q are true
2. IfPis correct and Q is wrong
3. If Piswrong and Q is correct
4
P

Statement

If both P and Q are wrong
Jackals live in forests. Cities are
in forests Therefore Jackals live in
cities.

Q: Some tables are grass. All stools
are grass. Therefore all tables are

stools.
(A) 1 (B) 2
() 3 (D) 4

Choose the figure which is different

from the rest.

Ul

@

1 2 3 4
(A) 1 B2
(C) 3 (D). 4
180991812024

85.

86.

87.

[271]

T A WN =

fort et & o P 3k Q & A &1 I

aifbd Wdiar % FUR R HH FR B
bR ¢

. AF BYF g 2

P I & 3R Q 39 21

P 3 & 3R Q T 2

2t P 3R Q sy
BATPR GFTH T8l 8| T FATHR
gl 3 o g aafe gam

T8 8|

Q: Wt BABR &A™ & Pig Mt eaH
s oy 78 21 3 saeR faw
T £

(A) 1

(C) 3

(B) 2
(D) 4

P o= 7 @1 o P 3R Q A 1 B Fa

A TPrRIdT & 3R 30 R B 7

THR |

2T B T B

P § 3R Q 3 €|

P 3190 & 3k Q W &

p 3R Q 21 3T 21

R e ¥ &d &1 IR S § &)

31d: FHaR Rl # 5 &

Q: v AT UM &l W e U & 3
GEIRE R

T Hh WNE

1(A) 1 (B) 2

(C) 3 (D) 4

34 PR B gFRI 3 3 F fire 2
7 1 2 3 4
(A) 1 (B) 2

(€) 3 (D) 4

P.T.O.




88. Choose the figure which is different

—
\_/
4 ;

from the rest

Ay

o

: | 2 3
(A) 1 (B) 2
(C) 3 (D). 4
89. Choose the figure which is different
from the rest.
1 2 3 4
(A) 1 (B) 2
() 3 (D) = 4
90. Choose the figure which is different
from the rest
: 2 3 4
(A) 1 (B) 2
(€ 3 (D) 4
91. For what value of P the following matrix
may be singular?
71 '
2P
® % ® 2
(C) 2
(D) None of these
18099\8\2024
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88.

89.

90.

91.

Wa@%aﬁgﬁﬁﬁm@&aa

|4
/

1% 3 : ;
P (B) 2
53 (D) 4
34 3wl a1 A it o @ fire )
: e 3 4
(A) 1 (B) 2
3 FPid B G S 3 e B
 § 2 3 %
el (B) 2
&L (D) 4
i
2P
(A % 8) 2
€ 2 (D) ¥ X B 7




92.

93.

94.

95.

96.

97.

180991812024

Ai
If Ais a symmetric Matriy g
en the
value of x is

4 2x-3

B= X+2 x+1

Lty (B) 2
€ 5 D) 3
Matrix (AB)! is equal to:
4B (8) A
Lo (D) B A
0
:; :S:,IWTI:}’ fsofrzae;)[;le Watched the
25% read a newspaDe?ewspzaperand
| and watched
the news on TV also. What percentage
of people neither watched the news on
TV nor read a news paper?
(A) 5 (B) 10
(C) 15 (D) .20
The age of father is twice that of the
elder son. Ten years hence the age of
the father will be three times that of
the younger son. If the difference of
ages of two sons is 15 years, the age
of the father is
(A) 50 years (B) 55 years
(C) 60 years (D) 70 years
If Tuesday falls on the fourth of the
month, then which day will fall three
days after the 24™?
(A) Monday (B) Tuesday
(C) Thrusday (D) Friday
If the 25th of August in a year Is
Thursday, the number of Mondays in
that month is
(A) 3
(C). 5

(B) 4
(D) 6

92.

93.

94.

95.

96.

97,

oft A o e fga & a x @1 A @
gl
| 4 2x-3|
T x+2 x+1
(A) O (B) 2
(&) 5 (D) 3
AR (AB) AV &
(A) B (B) A
(C) A'B (D) B'A’

mwﬁss%ﬁhﬂwmwm
& 40% mﬂqﬁgiﬂ‘h 25% 3FEaR
qga%“.aﬁzquwe@ﬁﬁl et
;rl%:sraaﬁnaa‘rwmwaﬂa'@ﬁ‘s‘qé‘r
3EaR Ted 87

(RY 5 (B) 10

(C) 15 (D) 20

frer & 39 T €3 & A g &1 10 T
are i & 38 B T B 37 B A T
St af 2t gt Y 37 T R 15 a9 &
ar frar & 37 FawE

(A) 50 years (B) 55 years

(C) 60 years (D) 70 years

gft FeER wEN @ dtelt ariE @ sl

& A 24 g ¥ 9N 7 @@ Bl W T
3TAT?

(A) HHAR (B) WEAR

(C) TR (D) AR

af e af # 25 anRa B AR & I
wiE § "WHaR @ G 8 &

(A) 3 (B) 4
(€. 3 (D) 6

S ——

I I
R I
- R T A




ram, triangle
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98.

Pt aify 4 Prget araest @, g Reenfia

3 the following diag el :
i resents  doctors, L Clrcqe N T 3f1eret ey @ vefdfa @<an 21
et the rectangl€ g
represents players and 3
represents artists m
1 . .
1 the diagram IR # i 4 e gt o @ & S
Which number space In &
represents doctors who are also lig(—‘”é.l IR BeNPR &
players and artists? 3 (A) 2 (B): =3
(A; 2 Eg)) = (C) 4 (D) 5
(C) 4 ¢ : 3 :
99. In the following diagram triangltTZ 99. f ampler 3 B st Y, ga Raensal
represents  doctors,  the tc::cle B T AT FABR] BN & B 2|
represents player and the rectang g
represents artists (\ ’ \ 3
ot i Y 7
LYY 2
! 2
6 5 1
2 ' - -
1 NG § B T F& I DATGRI DI G2l
L & 51 aa Raemst &1
Which number represents artists who
are players only? ; (A) 4 (B) 6
(A) 4 () 6 E
(C) 7 (D) 8 (C) . | (R 8.
100.1In the following diagram, triangle  100. % 3n@fa & Bt st @1, ga Raenfsal
represents  doctors, the circle 2 o 3 N ot el 3
represents players and the rectangle
represents artists 8
8 . a4 3
6 5
z 1
1
FRE W DI W T I PADORI D a2
Which number represents artisti .
: Istis who Raems!
are neither players nor doctor? ga A & 7 8 SRR &l
(A) 1 (B) 2 : LR 1 (B) 2
Q2 (0) 4 (©) 3 (D) 4
18099\S\2024 '




